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Topic:- General Knowledge and Logical Knowledge

1) Gandhi Sagar dam is built on the river ./ i AR |90y =|_c¢pr U T T % |

1. Tawa / ddl
2. Narmada / :IﬁE;'T

3. Chambal / I&d

4, Mahanadi / {8 :lél

Correct Answer :-

« Chambal / ddd

2) When is National Technology Day observed? / TI@TI' Henfet IFEGET R IEIRSIG]] %?
1. SthSeptember / 5T

2. 25™ December / 25 faTmR

3. 11" May /1198

4. 3" August / 3 3

Correct Answer :-

e 11 May /1173

3) When is International Women’s Day celebrated on every year? / ﬂﬂ?fg’fq g feaw s Y Hd {EET
ST 82

1. 8™ March / 8 et

2. 8™ January / 8 SFRI

3. 18 April / 18 30

4. 10™ February / 10 BRax}

Correct Answer :-



o 8 March/8 e

4) Which is India’s first indigenously built Stealth Warship? / Ta¢RI § fAfHd HIRd &7 gl W St sigrel
Tﬁ:[ 1 %?c

1. INS Chennai / 3TSUATY T35

2. INS Viraat / WW

3. INS Vikramaditya / 3TSUCY fashTiG
4. INS Shivalik / 3TSU-EY fRanfa®d

Correct Answer :-

« INS Shivalik / 3TSTTTY fRrarfers

5) Which is the highest peak of the Western Ghats? / i3t gre &1 e S ReR $i9 '\"-IT%?

1. Kanchenjunga / d-eidl

2. Sandakphu / Hedp

3. Anamudi / 3‘|7ﬂ'ﬂ_§[
4. Jindhagada Peak / i Sl YRR

Correct Answer :-

e Anamudi / G‘I_Fﬂﬂ@)[

6) India’s first gymnast Dipa Karmakar who got qualified for Olympic belongs to which state? / 3Ndfusd & ﬁﬂl{

T YT B3 aTell HIRd @1 ygell o Shur sHies fod Iy o1 82
1. Tripura/%fERT
2. Manipur/]:l'fal'ﬂ?'

3. Gujarat / [SIRTd
4. Madhya Pradesh / ] e

Correct Answer :-

e Tripura/ 392

7) On February 15, 2017 ISRO’s PSLV C-37 successfully launched how many satellites? / 15 TR@s} 2017 I

TR & Tieuad! W-37 A fhaq SuUE! & Swraargd® vafid fear
1. 108

2.104



3. 106

4. 110

Correct Answer :-

- 104

8) Jal Mahotsav 2017-18 will be organized at / ST¢l Hg e 2017-18 PT TSI HBI [h AT SITEI?
1. Neemuch / =i1HT
2. Narmada Kund / THG )

3. Hanuwantiya Island / aaaﬁm Eil]
4. Orchha / 3BT

Correct Answer :-

» Hanuwantiya Island / aaaﬁm L]

9) A 5.8 Magnitude quake struck in February 2017, already in the news for natural disasters that lead to

large-scale loss of life. / 5.8 GIEG Wﬁmﬁzon ﬁ_wm%m,ﬁmaﬁaafu%ﬁﬁﬁwﬁa?
Smuere & g TRl A ot 9 oRTd 98 99 WR SiaH 1 JHar gai|

1. Uttarakhand / STRIGS
2. Himachal Pradesh / %Tﬂ?lﬁ Elé'-‘lT

3. Jammu / OTH]
4. Ooty / &

Correct Answer :-

e Uttarakhand / STRIES

10) How many times has the Holkar cricket team won the Ranji Trophy? / W fppe WA fFat IR

RUTSH It Sitelt 82
1.6
2.7
3.4

4.2

Correct Answer :-



11) The district of Guna is divided by river / ﬁﬂﬁT'{ﬁT ﬂ?ﬁ 3 fgurfora %I
1. Tawa / ddl

2. Sindh / Y

3. Jamni / ST

4, Tamsa / dHIT

Correct Answer :-
« Sindh /Ry

12) The Budget is presented to the Parliament on / TG T gole g9 faa Uy forar srar %
1. 15™ April / 15 30

2. 15 April / 1 30

3. The last day of March / e & et faq

4, The last day of February / TRaR! & SRR feA

Correct Answer :-

« The last day of February / TRa<] & SRR faT

13) Who is known as the ‘Iron Man of India’? / ‘“HRd & HIG gey & = T fHA o ST 82
1. Sardar Vallabhbhai Patel / SRGR TeeiHHTS Tl

2. Jawaharlal Nehru / SIdlgXdllcdd ﬁ???

3. None of the above / Uqgaﬁﬁ %aﬁg:r(ﬁ

4. Bal Gangadhar Tilak / STcT TRTIER IGNED

Correct Answer :-

« Sardar Vallabhbhai Patel / GRGR GeaAHHTS Ued

14) Who is the chief minister of Andhra Pradesh? / 3T W& & J&IH B &2
1. Venkaiah Naidu / 34T BIRIS)

2. Chandrashekar Rao / ﬂa‘\;l@? X[

3. Chandrababu Naidu / Tdlg A1Ag
4, Kadiyam Srihari / $Isgd 48R

Correct Answer :-

» Chandrababu Naidu / I%dlq A1Og



15) Who was the captain of the Indian team that played the 2017 Women’s Cricket World Cup? / YR &
1 HwE B A forgia afgen fhare fay o9 2017 Qe ur?

1. Mithali Raj / TEr4Tel 311

2. Harmanpreet Kaur / ETFITI'BﬂT'[ aﬁ?
3. Poonam Raut / Y-1H I3d

4. Sushma Verma / JYHI aqf

Correct Answer :-

« Mithali Raj / FTelt It

16) Who was elected the Chairman of FIFA’s Governance Committee? / BT 1 T JfAfd &1 ST o
AT I™T UT?

1. SH Kapadia / T8 Td SH1afSar
2. Vitaly Mukto / faerat Hdl

3. Miguel Maduro / TB[Ua f@ﬂ
4, Mukul Mudgal / P &
Correct Answer :-

+ Mukul Mudgal / HP <l Hallcd

17) Who is the Union Minister for Health and Family Welfare? / SR ﬁWW%Wﬁﬁ%’
1. Harsimrat Kaur Badal /mﬁm

2. P Nadda /S Ut -TgT

3. Anant Geete / MERRIIG

4. Radha Mohan Singh /TI‘EJTInE:Tﬁi_E{

Correct Answer :-
« JP Nadda /S G 731

18) If CADAVERS is coded ACADEVSR, then how is IMMERSED coded? / Afé CADAVERS 1 ACADEVSR | BifSd

fooar irar 8, 9 IMMERSED ) & Difed fhar SIRRMm?
1. MIMESRDE
2. MIMESRED

3. MIEMSRED



4. MIEMSRDE

Correct Answer :-

* MIEMSRDE

19) How many 5 digits numbers can be formed using the digits 1, 2, 2,4,2,4?/ 3l 1,2,2,4,2,4 & IUANT IR

fait 5 sl @t e fAfHa &) wodl 32
1.720
2. 360
3.120

4. 60

Correct Answer :-

« 120

20) P scored more than D. U scored as much as D. R scored less than M. D scored more than U. M scored less than
D. Who scored the lowest? / P = D & 3/f[® ThIR I91TI U A D & SRTGR THR ST R M | HH THR
T 0 3 U F AP TR F91IT1 M A p W FH THR 9101 G99 HH R fHaq 9man

.U
2.R
3.P

4. M

Correct Answer :-

21) In throwing of two dice at a time, what is the probability of getting a total of 2? /3-1 i Th 1Y TP S R,

Fd 2 AR YT B Pi fpa- wildewar 82

N
sy [

w
—
h.:-l’—'

EN
&=

Correct Answer :-



22) Complete the series choosing the missing letter/s: / Ul Gl'&‘l?/al'&‘lﬁ Ca) YADY m Cal T m
b__bbbab__ba__b

1.b,a,a

2.a,b,a

3.3,3,b

4.a,b,b

Correct Answer :-

e a,b,b

23) What is the formation date of Madhya Pradesh? / H& USRI B RITUT &1 fafy war %?
1. 01 August /01 STRd

2. 01 November/ 01 g

3. 01 December / 01 faTTeR

4. 01 April /01 310

Correct Answer :-

¢ 01 November /01 -d¥s¥

24) Complete the series choosing the missing number: / T &I TAHR YEAT Bt TRT DIOTT:
1,8,3,6,___

1.8

2.5

3.4

4.7

Correct Answer :-

25) Complete the series choosing the missing number: / T GBI TAHR YEAT BT GRT BIOTT:
1,2, 6, 24, 120,

1. 720



2.725
3. 700

4.715

Correct Answer :-

« 720

26) Complete the series choosing the missing number: / T &I TAHR YEAT BT GRT BIToTT:
8, 10, 14, 18, .34, 50

1. 26

2.25

3.24

4. 27

Correct Answer :-

« 26

27) Select the option that is true about the Statements and Conclusions given:
Statements:

All numbers are bumpers

Some climbers are bumpers

Conclusions:

I. Some climbers are numbers
II1. All numbers are climbers

1 39 fapey &1 T9 P Sife R Tw = iR fAepaf FaR A w1 2
DY:
gt R TR §

PO FABFR TR 8

ﬁ'mﬁfz

. PO FATFR TR &

. g TR FsTER

1. only conclusion Il follows / Had spy Il &WW%

2. only conclusion | follows / Had e | &Wm%

3. neither conclusion I nor conclusion Il follows /qﬁﬁm | ﬁ?qﬁﬁm I WW%
4, both conclusion | and Il follows /ﬁEb_Bfl GﬁT Il aﬁf &WW%

Correct Answer :-

« neither conclusion | nor conclusion Il follows /:T_prﬁwﬁf | ﬁ?qﬁﬁw I WW%
)



28) Select the option that is true about the Statements and Conclusions given:
Statements:

All players are slayers

All slayers are blazers

Conclusions:

I. Some blazers are players
I1. Some blazers are slayers

/ 39 faed &1 g1 PIoE Sife e T Ui iR Fepui dp ar A i g :
DY:

Tt faadt s &

i sAR R &

e

| PO Ao fIarel &
Il $O AR AR &

1. only conclusion Il follows / Had frpy || WW%

2. only conclusion | follows / Had ey | WW%

3. neither conclusion | nor conclusion Il follows /'_‘Tg)[ﬁ'@lﬂf | Gﬁ?qﬁﬁwﬁf I GF;NTUTW%
4, both conclusion [ and Il follows /ﬁ@)ﬁl ‘3?]? Il a:ﬁ WW%

Correct Answer :-

¢ both conclusion | and Il follows /ﬁEb_GfI ARl a‘ﬂ‘faiwmﬁ%

29) Select the option that is true about the Statements and Conclusions given:
Statements:

Some cooks are students

All chemists are students

Conclusions:

I. Some chemists are cooks
II. All cooks are chemists

1 39 fapeu &1 a1 FIoTE Sife feT T Ui R Fepui P aR A TEI 8 :
DY

gl P s §
ﬁ'wﬂf:

. PO PRSP &
i T o FiRe §

1. only conclusion Il follows / Had ey || G'I_:NTUTWT%
2. only conclusion | follows / Had ey | mm%

(10) ~



3. neither conclusion | nor conclusion Il follows /:vapfﬁ@l’mf | Gﬁ?qﬁﬁ'@ﬂf I WW%
4, both conclusion | and Il follows /ﬁEb_EfI GﬁT 1l aﬁr WW%

Correct Answer :-

« neither conclusion | nor conclusion Il follows /qﬁﬁw | ﬁqﬁﬁmﬂf I WW%

30) Select the option that is true about the Statements and Conclusions given:
Statements:

No pigs are rigs

No figs are pigs

Conclusions:

I. No rigs are figs

I1. All rigs are figs

/ 39 fapeu &1 Tu- i S fu T Hu=T 3R frepul & IR A T8 8

DY:

o1g Wger AT &

H1g 1t 3iefk gor T §

e

1. I3 AT 3iefiv 8T &

i g RAr SiefiR &

1. only conclusion Il follows / Had ey 1) GENTUTWT%

2. only conclusion | follows / Had e | &Iﬂﬂwm%

3. neither conclusion | nor conclusion Il follows /:f_spfﬁ'm | \’ﬁ??ﬁﬁ@ﬁf Il S@TUTEI’T\’?[%

4, both conclusion | and Il follows /ﬁmﬂfl 33? 1 & I SR hd %’

Correct Answer :-

* neither conclusion | nor conclusion Il follows /:Tgnfﬁﬁb_@ | @T?ﬁﬁm Il Waﬂﬁ%

31) Choose the number which is different from others in the group: /Wmﬁmﬁﬁ'ﬂ%ﬁ
3= ¥ i &:

51, 64, 121, 144
1. 144
2.121
3. 64

4.51

Correct Answer :-



32) The series given below contains a sequence of numbers. Identify the incorrect combination: /

912 & 7 e §, SEnell 1 Te HH SUNRT §1 Tad Saie Ugdnig:
10, 22, 46, 92, 190, 382

1.92

2. 46

3.190

4, 382

Correct Answer :-

* 92

33) The series given below contains a sequence of numbers. Identify the incorrect combination: /
T2 & € e §, Tl o1 TP HH IufR T 1 Tad e Ugdrag

3,9, 27, 4,16, 64, 5, 25, 120

1. 120

2.27

3.16

4.9

Correct Answer :-
e 120

34) If SENSELESSis coded e3/ns4, then how is BLACKEN coded? / qfe SENSELESS BT e3/ns4d
Pifed f5ur ST 8, 9 BLACKEN 9 $9 wifed fear smavme

1. albliclelklini
2.albiclelklinili
3. abcelkn

4, abcekin

Correct Answer :-

o abcekin

35) If wallis called roof, windows are called doors, ventilators are called chimneys, floors are called
ventilators and chimneys are called floors, what is the outlet for the smoke from the kitchen? / Tﬂ%
wall B roof B8l SITdl %, windows ) doors $E1 STl %, ventilators &\ chimneys &gl SITdl %, floors Y
ventilators Hg1 STl 8 YT chimneys ) floors Fg1 TdT 8, @ TS 9§ FAean ara YU &1 fFin grR w82

(12)



1. Ventilators
2. Floors
3. Chimneys

4, Windows

Correct Answer :-

o Floors

36) ‘Wimbledon Trophy’ is awarded to / forads ﬁtﬁ' ¥ 370 I forar Srar g
1. Countries / G=If

2. Individuals / Sl

3. Zones / S

4. States / ST

Correct Answer :-

« Individuals / T

37) In a certain code language, erp tan sib means price is rising,gov rod tan means control rising
temper, rod sib ley means cannot control price. Which is the word for temperin that code language?

JAC I PIS UTHT 'ef, erp tan sib ®T 3 of price is rising; gov rod tan &1 3 ¥ control rising temper a4l
rod gib ley @1 31 cannot control price BT 81 59 BIS HTWT H temper P 1T forH Xreg o1 sxaHTa fopam
AT §?

1. tan
2. rod
3. gov

4, sib

Correct Answer :-

* gov

38) If INSTITUTION is coded NOITUTITSNI, then how is PROCEDURE coded? / df¢ INSTITUTION
P! NOITUTITSNI & ®Ifed fhar Sirat 8, @Y PROCEDURE & 3 SIS fpar Savm?

1. ERVDECORP
2. ERUDEDORP
3. ERUDECORP
4. ESUDECORP

(13)



Correct Answer :-

« ERUDECORP

39) Find the odd one out: / TH fauw NIG) Ebnlﬁrl'q:
25, 36,49, 121, 169

1. 169

2,121

3.49

4. 36

Correct Answer :-

+ 36

40) Mahakal is one of the

1. 10
2. 14
3.11

4. 12

Correct Answer :-

« 12

Topic:- Mental Ability and Mental Aptitude

1
) If the foellowing two squares shown below overlap, which one of the foellowing options
is formed? / @fe o= g @t s1fdeafta g §, o Fa & o =i a7 tF PeeT a=aar §?
= L\ 0 lﬂ
‘ @ °
@ =
[ | | L]
! ®|D|D
= =
D @ |
1.

(14)



D B |0

1 L]
T E|le

2.
F HIEE TTI
| =] 8
B0

3.

2) Tyv+dy
Ixtdy given that x: 2y = 3 :
dx—2v

Y % A i Y, o e 8

dx—2v

If x and y are real numbers (D), calculate the value of

-
N

2.} Afg x AR y arcdlde §&T (F0) & df
X:2y=3:2

1.2

2.5/2

3.372

4.3

Correct Answer :-

52

(15)



In the sequence shown below, which figure comes next? /@ & IR &H H, el
HTepid et | 3

1.
2.
ENPA
EEN Y |
i / 'a..‘.’ |
\, ., /‘
<\_____/'
3.

<A
K

Correct Answer :-

a) :
In the sequence shown below, which figure comes nexi? / @il T3 IR &H #, el
FTHT it ET 3RE?
| 1} m LR

(16)



I
Al

Correct Answer :-

5) Sum of the areas of two squares is 25 sq cm. The difference between the bases of the squares is 1 cm. What is

the area of the bigger square? /?ﬁ'ﬂ"ﬁ% AAHA BT ARTHT 25 aﬂw%l T & SMYRY & o 1 ) BT SR
2193 a1 BT B T 82

1. 4sqcm/4aﬁ@1ﬂ
2. 16sqcm/ 16 7 It
3.25 sq em / 25 9 9
4. 9sqcm/9a"f@'5ﬁ

Correct Answer :-

« 16 sqcm/163|"fafﬁ

6) The price of an item has changed from an original price of $40 to a current price of $50. What is the percent

change?%/waﬁmqm$4o$mﬁ$q§q@r$50%aﬁqﬁqmﬁmﬁa€rw%ltrﬁa?huﬁm?r

1.30%

(17)



2.25%
3.28%

4. 50 %

Correct Answer :-
e 25%

7) A man buys 3 dozen oranges for Rs. 36. He sells 20% of them for a loss of 5%. At what profit percentage
should he sell the remaining oranges in order to get an overall profit of 10%? / Y J&H 36 IUY H 3 GOl e
Wigdr 31 91 374 | 20% DI 5% B 1 A 99 ¢a1 7 | T @y ufomra W 39 Q9 Hav 99+ 1ot o
& 10% T Tyl aTY U 81 I |

1. 10%
2.20.25%
3. 13.75%

4. 15%

Correct Answer :-

* 13.75%

8) m and n are the roots of equation x> — 3x + 1 = 0. What is the value of 1/m + 1/n? | THEROT 2 - 3x +1=0F
m 3% n G &1 1/m + 1/n BT A T 82

1.2
2.1
3.0

4.3

Correct Answer :-

9) A is older than B by 4 years. If the difference of the square of the ages of A and B is equal to 80. Then Find the
sum of the ages of A and B./ A, BY 4 T T8T 81 TS A 3NT B B MY & I T 3R 80 F R T A 3R B
P 3T BT AN J1d B |

1.21
2.24
3. 18

4.20

(18)



Correct Answer :-

« 20

10) A reduction of 20 % in the price of sugar enables a purchaser to obtain 2.5 kg more for Rs. 160. Find the

original price per kg of sugar. /?ﬂ'—ﬁ%q\wﬁ'm% ﬁmﬁwamaﬁ 160 94 ¥ 2.5 BT 31t A+ ure
B BT TR <l & 1 A1 &1 vl forom arafas gea 3ra #31

1.Rs. 15 / 15 30
2.Rs. 18 / 18 ¥W
3.Rs. 16 / 16 30
4,Rs. 12 /12300

Correct Answer :-

« Rs. 16 /16 304

11) Jaisim purchased 60 shares of XYZ Company for Rs. 4,000 and later bought 40 more at Rs. 3,600. At what
price should he purchase an additional 50 shares so that the average cost of the shares is Rs. 80 each? . / ST

AXYZ BT F 60 AT 4,000 FUY H WIS 3fIR I1¢ A 3,600 U | 40 AR 3R WAL | fry g w3
e 50 TR TeA T R fF Tde R &7 SiTa Ted 80 T 812

1. Rs. 5,200 / 5,200 ST
2. Rs. 4,050 / 4,050 ST
3. Rs. 4,400 / 4,400 $TY

4. Rs. 3,400 / 3,400 3UY

Correct Answer :-
o Rs. 4,400/ 4,400 ST

12) A's salary is 60% of B's salary and B's salary is 75% of C's salary. What % of C's salary is A's salary? / A

BT A9 B P AdT BT 60% & 3R B BT AG C & 39 BT 75% 8| C & da BT fha-T % A ST 8?2
1. 35%
2. 50%
3.45%

4. 40%

Correct Answer :-

* 45%



13) If three men or four women can reap a field in 43 days, then, how many days will it take for seven men and

five women to complete the given task? /U%?ﬂﬂmmwuﬁamw@ﬁaﬁfﬂzﬁﬁm ﬁ‘[?ﬂ'ﬂ%%?ﬁ
T =0t 3R Ui afensy & $rf yul w5 ® fre fam @l

1. 10 days / 10 T&1
2. 12 days / 12 f&A
3. 17 days/ 17 f&d

4, 28 days / 28 fa

Correct Answer :-

« 12days/ 128

14) Sachin is younger than Rahul by 7 years. If the ratio of their ages is 7:9, find the age of Sachin. / GICE] Mgd

J 7 94 A Sier 81 afe TS Mg BT U 7:9 § T FRIA B Mg 14 B |
1.12.5 years / 12.5 98
2.23.5 years / 23.5 Y
3. 14.5 years / 14.5 9

4. 24.5 years / 24.5 L

Correct Answer :-
o 245 years/24.5 G

15) If a sum of Rs. 21565 is divided in three parts in the ratio of 4 : 6 : 9, then the smallest part will be: /‘Tﬁ'

21565 BT DI AR BT A YR T 4 : 6 : 9 P JUTd | fqUTITT foham ST, 9 e agad YR §Hm:
1. Rs. 5676 / 5676 304

2. Rs. 4540 / 4540 ¥4

3. Rs. 10215 /10215 394

4,Rs. 6810/ 6810 TUY

Correct Answer :-

« Rs. 4540 / 4540 3T

16) Two trains staring from the same place run at the rate of 50 kmph and 55 kmph respectively. What time will
they take to be 85 km apart, if they run in the same direction? /E}W Wg’f WY I ARY Eﬁ?ﬁ % Gﬁ? PHI: 50
it wia ger 3 55 foreft ufar wer wr =erdt 31 9fe a9t wu fozn & o 36 8 @ ss frft v e & g
=1 wwa e

1. 15hrs/ 15 9¢

2.16 hrs / 16 T¢
(20)



3.17 hrs / 17 9¢

4. 18 hrs / 18 ©¢

Correct Answer :-

e 17hrs/ 176

17) A is thrice as good a workman as B and together, they finish a work in 18 days. In how many days will B

alone finish the same work? / A, B@i?ﬂqﬂmmm%eﬁ?mﬂﬁﬁ@mﬁ 18%?1'1110?3:‘!%
31 fpaa el § B sravan S0 &1 &1 got Heem?

1. 60 days / 60 f&1
2. 72 days / 72 f&=
3. 66 days / 66 T

4.70 days / 70 fa

Correct Answer :-
. 72 days/ 72T

18) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: /
W & 1S sjraar 7, sreri MR =3 #1 U By A &1 Terd Taie g

i.rppyt87771typpr

il.rppyt87771tpppr

iii.rppyt87771typpr

iv.rppyt87771typpr
1. 1ii

2.1v

3.1

4.1

Correct Answer :-

19) The average age of the Rose's family consisting of her grandfather, parents and brother dropped from 46
significantly on the demise of the grandfather at the ripe of age of 82. It went further down to 35 next year when

Rose's brother married Cilia. What would be the age of Cilia? / W%Wﬁmm, Arar-foer ez
YTE Fifera &, 39 URaR 91 3id 3y 39% 82 a9 Srerelt &1 Jog g1 UR UTHR 46 8 ST 3 1 3ATd
a&u%a@ﬁ?ﬂfraﬁvmﬁwamsswﬁww,mﬁa%m%mﬁawﬁrmﬁgamﬁlﬁmﬁm
T ?

(21)



1.21
2.24
3.23

4,22

Correct Answer :-

20) The average age of a five-member family is 18 years. If the age of the grandfather is included, the average
increases by 12 years. What is the age of the grandfather? / T Ui UG et URaR & i 3 18 E'Ef%l
gfe rareh Bt 3y Y Nfira R ferar o <t i 12 9 9% 9 AT ] 1 greren #Y oy fhar 82

1. 90 years / 90 GL
2. 75 years /75 CL
3. 80 years / 80 CL

4. 85 years / 85 G

Correct Answer :-
* 90 years /90 CL

21) The average age of a class of 15 students is 20. If the age of the teacher is included and one student of age 20
is excluded, then the average of the class increases by 1. Find the age of the teacher. / 15 BIE| ﬁ@ D& C4|
3d 3mg 20 B 1 TS Rrere &1 3myg +ft =nfire 1 Sme 3R T 20 Ui ST #) g1 f3ar SIe o Har B
3T 3R 1 A ¢ ATl 81 Rigre & Sy 7a B |

1.30 yrs /30 @Y
2.37 yrs/37aﬁf
3.35 yrs /35 98

4. 40 yrs / 40 T

Correct Answer :-
e 35yrs/35 ¥

22) The average weight of 75 students of Section A is 60kg; and the average weight of 25 students of Section B,
belonging to the same class, is 52kg. Find the average approximate weight of all the 100 students of the class /

TR A P 75 BT BT 3T IO 60 THUT B; 3R I F&T F AR B F 25 DI BT 39d aoi 52 U 81
P& H I 100 BT BT TTHIT 3 T FTd B

1.58

2.52

(22)



3.56

4. 60

Correct Answer :-

» 58

23) A bag contains fifty, twenty and ten-rupee notes in the ratio of 2 : 3 : 5. If the total amount in the bag is Rs.
4,200, how many 20-rupee notes are there? /TH AAH 2 : 3 : 5 F U | T, T 3R 3T WA & e 2
afg da o Ho IR 4,200 U € < ITH 20 T & forea= e 32

1. 40
2. 200
3.25

4. 60

Correct Answer :-

24) A bus takes a different route when going and returning from station A to D. It goes from station A to B in 4
hours and then from B to C in 2 hours. It stops for a break of 1 hour at C before going to D which takes 7 hours.
On the return journey the bus starts from D, travels for 5 hours and stops for 2 hours at F. It then reaches E in 2
hour before moving to B. It takes 3 hours to reach B. Finally the bus goes from B to A in 4 hours. Which route is

longer and by how many hours? / TR A | D STd 3R 3iTa 999 T 99 T arf d<ft g1 ag 4 qe A R= A
A B Wi § 3R R 2 ¢ & B C A1 81 D 91H & vz, oRid 7 9 @ €, 9 ¢ R 1 9 & 3feRTel & g
FHal ¢ | TR I H T D A URY Bl €, 5 9¢ & R gadl @ iR F iR 2 e & g el g1 at fh B
PIARTH A UGA 2 G A E UG 81 B UG § 39 3 °He T | SMARPR T BT A 4 G4 HAM 1
I T1 9t i § ofiR fre wel A2

1. Return journey by 4 hours / 4 Hcl I a1 amET
2. Return journey by 2 hours / 2 Hel ¥ aro g
3. Going journey by 1 hour / 1 H¢ I I arelt g
4. Going journey by 3 hours / 3 He I S arelt I

Correct Answer :-

e Return journey by 2 hours /2 Hel I aroit amET

25) Kajal faces towards north. Turning to her right, he walks 25 meters. She then turns to her left and walks
another 30 meters. Next, she moves 25 meters to her right. She then turns to her right again and walks 55 meters.
Finally, she turns to the right and walks 40 meters. In which direction is she now facing from her starting point? /

PIoTd BT UG SR DI MR T 1 U GI¢ YSd 8T, T8 25 Hiex Tard! 71 9 b a8 gl 7 8fiv 3mit 30 Wiex
Tardt 81 iR af oram qre & 25 Wiew godi 81 9 fibw o= 31¢ goeht § o 55 Hiex gadl 81 sfRaR at
¢ Gt @ 3R 40 Hiew Fadt 81 wRe fig & o SueT Ige o @t Rz # 22
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1. North-West / STR-Gf3H
2. South-West / GI&UT-UfEH
3. South / GI&OT

4, South-East / Ef\&IUT—ch

Correct Answer :-

« South-East / GI&0-qd

26) If 26 kg rice costs Rs. 299, how much would 22 kg cost? / Af 26 fHuT ATae &1 Yo 299 FUA ot 22 fHam
$t AT fpa-it grit?

1. Rs. 223 /223 30
2. Rs. 253 /253 30
3. Rs. 243 / 243 30

4. Rs. 247 / 247 Y

Correct Answer :-
« Rs.253/253 300

27) If 6 unskilled workers make 8 chairs in 4 days, then how many additional skilled workers should be hired,
who are 1.5 times as efficient as unskilled workers, to make 24 chairs in 6 days? / 'q% 6 PRI aﬂ!ﬂﬁ, 4 ﬁ:ﬁ'
H 8 pRIal &1 fmior wvd €, a1 foam sifafvea g=ra sdarial o fFrgea s aifge s & srgza
FHHETREl F 1.5 AT H=1a 8l o & 6 fo=1 o 24 HRIA &1 fFwfor gt une?

1.4
2.2
3.6

4.3

Correct Answer :-

28) Which one of the following four addresses is NOT EXACTLY same as the one given below? / IBL]
R T AR Tl ® 9 A R T v & St 99 o 91 Ue T8l 82

Kingford Smith
424-458 Hoxton Park Road,

2171 Liverpool, Australia

(24)



(i) Kingford Smith
424-458 Hoxton Park Road,

2171 Liverpool, Australia

(ii) Kingford Smith
424-458 Hoxton Park Road,

2171 Liverpool, Australia

(iii) Kingford Smith
424-458 Hoxton Park Road,

2171 Liverpool, Australia

(iv) Kingford Smith
424-458 Hoston Park Road,
2171 Liverpool, Australia

1. iii

29) An employee receives the following incentives on his job for 3 months as Rs. 3,000, Rs. 3,500
and Rs. 2,870. What average incentives does he need on the last two months in order to maintain a
Rs. 3,500 average? / T% ®HARI &I 30 S R Fufifaa weares 3 981 & e wiw gu: 3,000 U3,
3,500 U3, 3T 2,870 TUA| 3,500 FUY HT 3HId I9TC TE & g Rt oF wdi=i & 39 @am Sivia
WATe Pt ATTRADH T 82

1. Rs. 4,065 / 4,065 STY
2. Rs. 4,605 / 4,065 SUY
3. Rs. 3,500 /3,500 SUY

4. Rs. 3,000/ 3, 000 3T

Correct Answer :-

(25)



o Rs. 4,065 /4,065 %00

30) Find the average. / 3 e
37,17, 25,37,49 & 63

1. 39

2.41

3.36

4. 38

Correct Answer :-

* 38

Topic:- Science and Simple Arithmetic

1) . . g .
IF 253 3 22m+3% 2-12 = | then the value of xis: / Tg B3 x 2 +3x -2 =1 g x & AT ey
1.3
2.4
3.2
4.1

Correct Answer :-

2)
In the given figure, AB =AC. CH=CB, HK || BC and #ZDAC =140°, then ~ HCK=_____/ TGU aw =7 #, AB=AC.
CH=CB, HK | BCHX £DAC=140°, dT £ HCK=___.

(26)



=]

2.40

=]

3.35

=)

4.30

Correct Answer :-

=)

* 40

3) If the cost price is 96% of the selling price, then what is the profit percentage? / afe arTa Hed, ﬁﬂ'ﬁl@
BT 96% g, al ATH U 1 §RI?

Je
|
(=]

3.5%

4. 4%

Correct Answer :-

4) If the sum of two numbers is 8 and difference of their squares is 16, then the numbers are: / uﬁa‘m’@mﬁ

BT AR 8 TAT ISP a1 BT e 16 8, A Tg e §:
1.1and7/1 3R 7
2.2and 6/2 3R 6
3.4and 6/4 3R 6

4.5and3/5 3R 3

Correct Answer :-
« 5and3/5 3R 3

5) If each of the dimensions of a rectangle is increased by 100%, then how much is the area increased by? / 'qﬁ

T AT B AP f[TAT H 100% P g3 81 oe, aF @wa o fhasit gie gifie
1. 100%
2. 200%

3.300%

(27)



4. 400%

Correct Answer :-

+ 300%

6) The ratio of the volume of two cylinders of same height and whose radii in the ratio 1 : 4 is: / THIF Wl'g?ﬂﬁ

& AT & e BT 3guTd o & e Beand 1 : 4 F U # §:
1.1:4
2.1:8
3.1:16

4,1:2

Correct Answer :-

e 1:16

7) The largest perfect square which is exactly divisible by 4, 5, 6, 15 and 18 is: / 4, 5, 6, 15 TUT 18 k| q:Uqu Ll

funfora 819 arem e ge1 gof o fe 2
1. 600
2. 300
3.256

4. 900

Correct Answer :-

8) The present population of a village is 60500 and it increases at the rate of 10% per annum. What was the

population 2 years ago?/@"ﬂﬁﬁﬁﬂ?&lﬂm 60500%\#‘?@'&9’%3& 10% aﬁq@s\?ﬁ?,l 299
Ugel 9 id $i Sae faa oA

1. 50000
2. 59000
3. 60100
4, 48000

Correct Answer :-

« 50000

(28)



9) Amit covers two-third of a certain distance at 4 km/hr and the remaining at 5 km/hr. If he takes 42 minutes in

all, what is the distance covered in km? / arfhawﬁm—rg'&ma‘rﬁms‘ UTT 4 Tt /Aer &t 1fd &R a9 HIar
AR AV s frft /e H TR sRa I g pa gl s A 2 ream &, A sw g
R g qa 3t

1.2 km/ 2 fod.
2. 4km/ 4 Tl
3.3 km/ 3 Tl
4.5 km/ 5 fobHl.

Correct Answer :-

e 3km/3 oL

10) In a circle with centre O, AB and CD are two diameters perpendicular to each other. The length of chord AC

is: / O % 910 TP I A, AB 3R CD &I TP GOR & T9dd 9 & | SiidT AC B daTs =1 ghil:

lap
2

11) In any pie chart, the sum of the central angles is: / ot ‘TI'&F TS |, H-1g BIVN BT AT 761 g CF
1360

2.90°

3.270°

4.180

Correct Answer :-

12) 1f ABCD is a parallelogram with AB = 8.3 cm and perimeter = 26 cm, then BC= i Tﬂ% ABCD T

TgYe | ORI Yo AB = 8.3 O, 3R 3Tt ulkfer = 26 Aft, A BC= B
» (29)



1.4.2 cm/ 4.2 9H,
2.4.7 cm/ 4.7 9w,
3.4 cm/4@tﬁ.

4.3.8 cm/3.8 9H.

Correct Answer :-

« 47 cm/ 4.7 TH.

13) Which of the following is irregular or hexagonal? / = o 9 T eifvafe o wesivia gian %?
1. Neuron / AADIRIET

2. Squamous epithelium / Teh] SUBHl

3. Connective tissue / TSN SHad

4. Bone cell / Gﬂ(@fm

Correct Answer :-

» Squamous epithelium / T[] FaDH Al

14) Which of the aqueous solutions will exhibit Tyndall effect? / 1 STeid faaa-l # @ $i4 fe~sTa UG
weiRid B2

1. Sodium carbonate / ST HTEHC
2. Copper sulphate / PR The

3. Milk / ¢¥
4. Potassium permanganate / Tl REH RATE

Correct Answer :-

o Milk/g¥

15) The movement of shoot towards light is: / WP B 3R IR.']—E' AR Eﬂ?ﬁ %:
1. Chemotropism / Q@w

2. Hydrotropism / Fi?ﬂﬂa?ﬁ

3. Phototropism / Wﬂﬂﬁ?ﬁ

4. Geotropism / W?h

Correct Answer :-

 Phototropism / Wﬂﬂ?ﬁ
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16) The metal rods dipped in liquids to which batteries are attached in a circuit are called i %ﬂﬁa’ﬂ 3%

g § g g1 &, R el @1 ufvoy & Safda fearsman @, Hearrgl
1, electrolytes/ﬁ@qﬁ&m

2. electrolysis / [Agad 3qees

3. electrode / g?ra'@%’
4, insulators / fAgad Ayw

Correct Answer :-

« electrode / 3@3@3

17) A plant cell lacks chloroplast. Which of the following functions will be affected? / YpUIqU PIRGT A

gideae® &1 3HTa gidT 81 399 A A @ @19 |1 o1l gHTfad gm?
1. Reproduction / Y-

2. Respiration / RdH

3. Food production / IS &1 SdTG

4, Storage / HSRUT

Correct Answer :-

» Food production / IS BT IdTG

18) Symbols and names of different isotopes of hydrogen are given. Indicate the wrong pair. / 313@\_117'[% fafi=

RIS $ fag 9ur 9 feu e § | 7Tad Sist &) Yobd S|
1. 13H ; Tritium / 13H;—§l—§%€|ﬂ

2. 12H ; Deuterium / 1°H ; ?ﬂﬁm

3. 12D ; Deuterium / ;°D ;Eﬂﬁm

4, ;1H ; Protium / | 'H ; Wifcad

Correct Answer :-

. 12D ; Deuterium / 12D ;S?L'cpfﬁ'qﬂ

19) The fuel used in engine of jet aeroplanes is: / e Eﬂ'lg I o HEEIGI é'?-l':[ %z
1. Diesel / SIoldl
2. Kerosene / BRI

(31)



3. CNG / Sigsh
4. Petrol /ﬁ'@a

Correct Answer :-

« Kerosene / BRI

20) Temporary magnets are made of: / amn% Wﬁﬁ'\ﬁ' T &:
1. Stainless steel / T A

2. Soft iron / Hg NI
3. Steel / WA

4. Copper / il

Correct Answer :-

« Soft iron / TG QAlgl

21) At the top of high mountains, atmospheric pressure WASE=) qﬂ'l:"?f P =i W, EITHTIW qld
|

1. increases / dedl %
2. remains constant / fRR 3T 8
3. decreases then increases / ¥cdl % iz dedl %

4, decreases / ‘EIEHT%’

Correct Answer :-

« decreases / ICAT §

22) A virtual image is always /93T YR ufafas '\‘laﬂ _ Eﬁ?ﬂ %I
1. diminished / BT

2. inverted / fTelTod

3. magnified / BIECIRE]

4. erect / SRSl

Correct Answer :-

. erect/ eSS

23) The inner lining of the stomach is protected by which one of the following from the action of hydrochloric
acid? / STHTRIT P SATdR® 3R (@M 1 A | 5w tor & gRT sIssiaaR® e &1 sifuforar 9
- (32)



TRfara gt 82

1. Bile / fUred

2. Pepsin /Ui

3. Mucus / TeISAT

4, Salivary amylase / dRGR [UERE]

Correct Answer :-

« Mucus / XA

24) Hepatitis is caused by a . / guersfed P PR BT 2|
1. bacterium / GﬂaTUl

2. fungus / hddh

3. Virus/ﬁ'ﬁl'l'q

4. protozoa / PICSIE

Correct Answer :-

. Virus/ﬁ'ﬁlTUl

25) According to the base pairing rule, Adenine always pairs with: / 3THR gHT g & SR

(ECE | R KR ¥ ST g 5
1. Guanine / T
2. Cytosine / WTSCIRA

3. Uracil / IR1@
4, Thymine / 4HHA

Correct Answer :-

« Thymine / YI@HH

26) The physiological process that helps in the perpetuation/continuation of the species is: /9%

T Wishar sit wetfadt & Aedievor/ safiad § wae el o
1. Circulation / UR=ITEH

2. Reproduction / TSI

3. Digestion / U

4. Respiration / 49+

Correct Answer :-
(33)



* Reproduction / USIH

27) Protein synthesis takes place in MY #Eargl
1. Nucleus / T%es

2. Ribosome / ST

3. Mitochondria / ATSCIpIgal

4. Golgi apparatus / Tieolt 3HRT

Correct Answer :-

« Ribosome / JSaH

28) (12x3y3 - 3x2y2) pd (-15x2y3 = 60x3y4) =

1.1
2.-1

3. 4xy

-1

Xy

Correct Answer :-

29) 1f 157464 = 23 % 39, then the cube root of 157464 is: / TT¢ 157464 = 23 % 39, Tl 157464 HT U

A= g

2x 3%

Correct Answer :-

2 x 33

30) The number of digits in the number 210 X 58 js; 7 T@T 210 X 58 ¥ 3iep} &1 T fre gift:

1. 10
(34)






